Name:

sin=ﬂ) cos=a—OIJ tan
hyp hyp

_opp a _ b _ ¢
~adj sinA ~ sinB ~ sinC

WS- Sine& CosinelLaw

1. Solve for sidé using the sine law. Round your
final answer to one decimal place.

C

39°
850 A

2. Solve for sidéy using the sine law. Round your
final answer to one decimal place.

B

36

3. Solve for the angla using the sine law. Round
your final answer to one decimal place..

Date: ID: A

b? +c? -a?

COSA = T

a’? =b%+c?-2bccosA

4. Solve for sidé using the cosine law. Round your
final answer to one decimal place..

B

86°
35

5. Solve for anglé using the cosine law. Round your
answer to one decimal place..

6. Solve for anglé using the cosine law. Round your
answer to one decimal place..

C A
88°
41
39 50
A B
B 49 ¢ 34
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7. Solve for all unknown sides and angles. Round
sides to one decimal place and angles to the rteares
whole number.

46

8. Solve for all unknown sides and angles. Round
sides to one decimal place and angles to the rteares
whole number.

9. Solve for all unknown sides and angles. Round
sides to one decimal place and angles to the rteares
whole number.

10. Solve for all unknown sides and angles. Round
sides to one decimal place and angles to the rteares
whole number.

A

58°

34°

11. Solve for all unknown sides and angles. Round
sides to one decimal place and angles to the rteares
whole number.

B
AN

77°

7

(%]

12. Solve for all unknown sides and angles. Round
sides to one decimal place and angles to the rieares
whole number.

C B
86°
39
34 27
43°
540 A C
B A
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WS- Sine& CosinelLaw

Answer Section

1. ANS:
30 _ b
sin39° " sin85°
_ 30(sin85°)
~ sin39°
b =475
PTS: 1
ANS:
36 _ b
sin59° " sin33°
_36(sin33°)
~ sin59°
b=229
PTS: 1
. ANS:
SinA _ sin88°
39 49
_ 39(sin88°)
A=
4| 39(sin88°)
— 1
A=sin [—49
A=52.7
PTS: 1
. ANS:
b® = 35 + 29” — 2(35)(29) cos 86°
b=43.9
PTS: 1
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5. ANS:
_ 35° +50° -42°
COSA =~ 35)(50)
4| 352 +50% - 42
A=COS | ——Fmoe—
2(35)(50)
A=559
PTS: 1
6. ANS:
2 _ 2
COSA = 50° +41° - 34
2(50)(41)
A= cos’ 50° +41% - 34°
B 2(50)(41)
A=4275
PTS: 1
7. ANS:
2 —
cosa = 28+ 407 - 33
2(46)(40)
A= cos? 46° + 407 - 33
B 2(46)(40)
A=445
PTS: 1
8. ANS:
SiNA _ sin56°
30 36
A = 30(sin56°)
SINA = —36
;[ 30(sin56°)
— 1
A=sin [—36 ]
A=435
PTS: 1
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9. ANS:
3 b
sin43° " sin54°
b= 34(sin54°)
© sin43°
b=40.3
PTS: 1
10. ANS:
33 _ b
sin58°  sin34°
_ 33(sin34°)
~ sin58°
b=21.8
PTS: 1
11. ANS:
b? = 42° + 35° —2(42)(35) cos 77°
b=48.2
PTS: 1
12. ANS:
b? = 39 +27* - 2(39)(27) cos 86°
b=45.9
PTS: 1
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